$$H = H^{0} + H' = \begin{pmatrix} E_{a}^{0} + \lambda V_{ea} & \lambda V_{ab} \\ \lambda V_{ba} & E_{b}^{0} + \lambda V_{eb} \end{pmatrix} = \begin{pmatrix} A & \lambda V_{ab} \\ \lambda V_{ba} & B \end{pmatrix}$$

$$C = A^{2} V_{ab} V_{ea} = \lambda^{2} |V_{ab}|^{2}$$

$$(E_{a}^{0} + \lambda V_{aa} - \alpha) \left( E_{b}^{0} + \lambda V_{bb} - \alpha \right) - \lambda^{2} V_{ab} V_{ba} = 0$$

Ea El + Ea a Voer - Ea a ta Van El ta Van Ver-oa Van - d El-a a Verta 2 - 2 Van Ven =0

$$\chi^{2} - \lambda \left( E_{a}^{\circ} + \lambda V_{aa} + \lambda V_{bb} + E_{e}^{\circ} \right) + E_{a}^{\circ} E_{e}^{\bullet} + E_{a}^{\circ} \lambda V_{bb} + \lambda V_{aa} E_{e}^{\circ} + \lambda^{2} V_{aa} V_{bb} - \lambda^{2} V_{ab} V_{ba} = 6$$

$$0 \leq 1 \operatorname{diversion} + 4 \operatorname{diversion$$

find disorimenant:
$$D = \left(-E_a^{\circ} - 2V_{aa} - V_{bb} - E_b^{\circ}\right)^2 - 4\left(E_a^{\circ} E_b^{\circ} + E_a^{\circ} \times V_{bb} + 2V_{aa} E_b^{\circ} + 2^2 V_{aa} V_{bb} - 2^2 V_{ab} V_{ba}\right)$$

= 2E°E°+2E°2Vaa+2E°2Vaa+2E°2+22Va°+22Va°+22Va°+22VaeVee E°+22Vaa E°-4 (E°E°+E°2Vee+AVaa E°+22VaeVee)

ABC-formula (but D Hens to be fortoo long...)

$$d = \frac{E_{a}^{o} + 2 V_{aa} + 2 V_{ba} + E_{b}^{o} \pm V_{aa} - E_{a}^{o} + 2 V_{aa} - E_{a}^{o} + 2 V_{ba} + E_{a}^{o} + 2 V_{ba}^{o} + 2 V_{$$

Then, I would have to be the energy of the resturbed ystem (there are 2 possible values for x with either to + or the - sign)

$$(A-\lambda)(B-\lambda)-C=0$$

$$AB-\lambda B-\lambda A+\lambda^2-C=0$$

$$\lambda^2-\lambda(A+B)+AB-C=0$$

$$D=(A+B)^2-4(AB-C)$$

$$\lambda=\frac{A+B\pm\sqrt{A+B^2-4(AB-C)}}{2}$$

$$\beta = \frac{\left[E_{a}^{\circ} + \lambda V_{a} + E_{c}^{\circ} + \lambda V_{b} + \frac{1}{2} \left(E_{a}^{\circ} + \lambda V_{a}\right)^{2} + 2\left(E_{a}^{\circ} + \lambda V_{a}\right)\left(E_{b}^{\circ} + \lambda V_{b}\right) + \left(E_{a}^{\circ} + \lambda V_{b}\right)^{2} - 4\left(E_{a}^{\circ} + \lambda V_{b}\right) + 4\lambda^{2}|V_{a}|^{2}}{2}$$

$$= \frac{\left[E_{a}^{\circ} + \lambda V_{a} + E_{c}^{\circ} + \lambda V_{b}\right] + \left(E_{a}^{\circ} + \lambda V_{a}\right)^{2} + 2\left(E_{a}^{\circ} + \lambda V_{a}\right)^{2} + 2\left(E_{a}^{\circ} + \lambda V_{b}\right) + 4\lambda^{2}|V_{a}|^{2}}{2}}{2}$$

$$= \frac{\left[E_{a}^{\circ} + \lambda V_{a} + E_{c}^{\circ} + \lambda V_{b}\right] + \left(E_{a}^{\circ} + \lambda V_{b}\right)^{2} + 2\left(E_{a}^{\circ} + \lambda V_{a}\right)^{2} + 2\left(E_{a}^{\circ} + \lambda V_{a}\right$$